* 6 § & % Multiply decimals by powers of ten

Name: Date: Score:
5273 x 10 = 3.846 x 1000000 =
5.988 x 1000 = 9.757 x 100 =
9477 x 10 = 9.855 x 10000 =
3.078 x 10 = 2.527 x 100 =
7.92 x 100000 = 6.099 x 100000 =
10.224 x 10000 = 1.941 x 100 =
6.82 x 10 = 1.691 x 1000000 =
4.139 x 1000000 = 3.515 x 1000000 =
10.627 x 1000 = 2.32 x 100000 =
9.399 x 100000 = 7.967 x 10 =
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* 4 § & w Multiply decimals by powers of ten

Name: Date: Score:
5273 x 10 = 52.73 3.846 x 1000000 = 3846000
5.988 x 1000 = 5988 9.757 x 100 = 975.7
9477 x 10 = 94.77 9.855 x 10000 = 98550
3.078 x 10 = 30.78 2.527 x 100 = 252.7
7.92 % 100000 = 792000 6.099 x 100000 = 609900
10.224 x 10000 = 102240 1.941 x 100 = 194.1
6.82 x 10 = 68.2 1.691 x 1000000 = 1691000
4.139 x 1000000 = 4139000 3.515 x 1000000 = 3515000
10.627 x 1000 = 10627 2.32 x 100000 = 232000
9.399 x 100000 = 939900 7.967 x 10 = 79.67
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